P ke

Online

Parts Catalog - Option Detail

Option Group Graphic Film Card Date

TB%%SQ- 10.01.1 tb207go Il 17-JUL-02
Endines ISM CM570, ISM CM570/870, ISM CM875, ISM CM876, ISM CM876 E, ISM11 CM876 M103, ISM11 CM876 SN, M11

g CELECT, M11 CELECT PLUS, M11 MECHANICAL, QSM11 CM570, QSM11 CM876
30
tb207go
SMALL | MEDIUM | LARGE
View My Cart

TB2259-02 Turbocharger Arrangement

Turbocharger Arrangement

1 68241 Zinc Electrode Plug 3



https://qsservices.cummins.com/qshd/feedback.php?productid=1
javascript:swap_img('tb207go','/rtgraphics/english/parts/tb/2/tb207go_sm.png');
javascript:swap_img('tb207go','/rtgraphics/english/parts/tb/2/tb207go_md.png');
javascript:swap_img('tb207go','/rtgraphics/english/parts/tb/2/tb207go_lg.png');

2 145582 O-Ring Seal 2
3 3028291 O-Ring Seal 1
4 4086588 T-Bolt Clamp 2 3 3/4inch
5 3066211 O-Ring Seal 1
6 4078469 Plain Hose 1
7 3093932 Hexagon Flange Head Cap Screw 4 M10 X 1.50 X 25.
8 3094043 V Band Clamp 1
3349397 Aftercooler 1
9 145583 O-Ring Seal 2
10 145586 O-Ring Seal 2
11 3278093 Pipe Plug 1 1/4 NPT
12 3349410 Aftercooler Core 1
13 3349411 Aftercooler Housing Gasket 1
14 3349415 Aftercooler Housing 1
15 3349416 Aftercooler Housing 1
16 3349461 Hexagon Flange Head Cap Screw 12
17 3349462 Hexagon Flange Head Cap Screw 6
18 3349590 Sea Water Connection 2
19 3393717 Hexagon Flange Head Cap Screw 4 M10 x 1.50 x 30
20 3393897 Hexagon Flange Head Cap Screw 4 M10 x 1.50 x 105
21 3349399 Air Crossover Connection 1
22 3349541 Connection Gasket 1
23 3349658 Aftercooler Support 1
24 3349740 Sea Water Pump Tube 1
25 3349741 Sea Water Pump Tube 1
26 3349742 Adapter Connection 1
27 3896408 Hexagon Flange Head Cap Screw 2 M10 x 1.50 x 80
28 3925883 Hexagon Flange Head Cap Screw 2 M8 X 1.25 X 16
29 3900631 Hexagon Flange Head Cap Screw 4 M8 X 1.25 X 25.




30 3903112 Hexagon Flange Head Cap Screw 10 M10 X 1.50 X 30.
31 3903990 Hexagon Flange Head Cap Screw 4 M10 X 1.50 X 20.
32 4003347 Tube Clamp 2
33 4003348 Air Crossover Connection 1
34 4019274 O-Ring Seal 1



https://quickserve.cummins.com/qs3/qsol/terms.html
https://quickserve.cummins.com/qs3/qsol/system_requirements.html

